RG-250 diwash

e

(A) 10
20

30

380

) 10

90
(B) 100

120

, 562
150
160
830
620, 621, 622, 623
210
250 690
700, 690
710, 711, 712
000 720, 730
740
750
300 760 (B)
310 770
120 780
850, 860 2pcs, 870
330 790
800
350
360
370
810
(A) LOCTITE 242 SE NR P& RITNING ;0 820 (B)
3
(B) LOCTITE 243 0
50
80
70 920
80
90
100
390
40
410
420

HALLDE 3ANACHbIE YACTH




RG-250 diwash

yepTex Homep

Ne nspenus

Onucanue

WTYK

10 25190 BUHT 2

20 10642 LUAMBA, MNACT., 18/10,5X1,5 2

30 25162 LUTOK, L=45 1

40 25181 BTYIKA, 19/14-10,2 2

50 25189 LUTOK, L=56 1

60 33305 PYUKA KAPETKW, OWAM. 10X4 3

70 25155 PYUKA BbITAITIKUBATENA 1

80 25265 MNACTUHA TONKATENA BKIMTKOYAA LUTOK, diwash 1

90 25159 LWNWNBKA, 6 MM 1
100 14833 CTOMOPHbIV BUHT 1
120 25267 SUKCATOP PYYKM B CBOPE, diwash 1
150 3152 LWNUNBKA ®UKCATOP OVNCKA CBPACBIBATENA 2
160 10262 KOINbLIEBOE YMNOTHEHWE, V-18S 1
200 10259 PE3VHOBAS YNNOTHAIOLWASA LWAWBA, 18X30X7 1
210 1402 BAIN HOXA B CBOPE RG-200 1
250 1403 KOMMNEKT TOPMO3A RG-100/200/250. 1
300 14521 BWHT, M6S M6X12H 4
310 25149 MNNACTVUHA OBUTATENA 1
320 14353 BWHT, MRT M5X40 4
330 15759 OBUIATENb 230/400 3 50, 440 60 1
330 15760 OBUIATESb 220-230 1 60 1
330 15757 OBUIATENb 110-120 1 50/60 1
350 25140 OCHOBAHWE 1
360 25146 BEHTUNALMOHHAA PELLETKA, NEBAA 1
370 14622 BuHT RTK ST3.5X13 A2 70 6
380 25180 MNECTUK HALLDE 1
390 25160 TACA 1
400 25191 BUHT ANA CUCTEMbI KYNNChI 2
410 25161 rMNB3A ANA CUCTEMbI KYNUCHI 1
420 25182 BTYIKA, 18-15,3 2
440 14223 BWHT, MKFS M4X 10 A2 70 1
450 25177 OlMOPA, NOPLWEHb 1
460 25246 YCTPOWCTBO MOJAYY B CEOPE, diwash 1
470 1172 ®UKCATOP OUCKA CMPANEBUOHbIN 1
480 25153 OUCK CEPACBIBATESTb 1
500 25268 BJTOK HOXA B CBOPE, diwash 1
510 10455 BCTABKA, IKPT 1715S 1
520 15657 KHONMKA «O» B CBOPE 1
530 15440 KHOMMKA «1» B CBOPE BE3 OBO3HAYEHUA 1
540 25158 HAMPABIAIOLWAA BTYIKA 1
550 25145 SALUNTHBIN BBIKNMKOYATENB B CEOPE CTAH[. US 1
560 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 2
561 15565 Mukposbikntouatens XGT42C-86-S2021 1
562 23227 n3onAaunA ona NEPEKMKOYATENA 1
570 25163 LWTUNDT AKTUBATOPA B CBEOPE 1
580 15648 N3ONNPYIOLLAA TPYBKA, 134-002, OVAM. 12/8 1
590 10589 MPEOOXPAHUTENBLHBLIV 3AXKWM KABENSA, 55-016-89 2
600 14336 BWHT, MRT-H M4X25 A2 70 2
610 25137 KOPMYC MALUMHbLI B CBOPE 1
620 15147 LUHyp nuTaHua CB 1 ana RG-100/200/250/350/VCB-61/VCM-41 1
620 15142 LWHyp nuTaHus CB 3¢ 1
620 15208 KABEINb MUTAHUA, SJT3X14, AWG, ANA CLUA 1
620 15377 KABEIb MUTAHWA, BS/2.5MS, ONA AHIMAN 1
690 15813 KoHTakTop 11BG0910A110 1
691 15810 KOHTAKTOP 11BG0610A230 4

HALLDE 3ANACHbIE YACTH




RG-250 diwash

yepTex Homep

Ne nspenus

Onucanue

WTYK

692 15818 KOHTAKTOP 11BG0610A400 2
700 15815 KOHTAKTOP 110B 50/60r'L, 1
710 15811 PENE NEPEMPY3KN RF120160 1
710 15816 PENE MEPEIPY3KW 120630 1
710 15666 Pene neperpysku 7-10A 110v 1
720 15385 MNATPOH NPEOOXPAHUTENA 1
730 15384 NPEJOXPAHUTETb, T100MA 1
740 15665 KOHOEHCATOP 60 M®, 120 B 1
740 15489 KOHOEHCATOP 1
750 15110 RC-LIEMOYKA, B3-220 220 B 1
750 15111 RC-LIEMOYKA, 110 B 1
760 25136 KOMMMEKT CTEPXHEW, M5 1
770 25135 KOMMNEKT MPOBOAKMN 1
780 25148 PYUYKA 1
790 14046 TAVIKA, ®UKCUPYIOLLAA, LM M5 4
800 25147 BEHTUNALMOHHAA PELLETKA, MPABAA 1
810 10507 HOXKA, PE3VIHOBA#A, BVO 22H10 4
820 40786 BUHT, ANsA PE3VHOBOW HOXKM 4
830 15354 FEPKOH, HM-S-16 1
840 1184 TAEYHBI KIKOY CMUPANEBMOHOIO ®MKCATOPA VICKA 1
850 10497 NMNACTMACCOBAA BTYJIKA, 05-6-10-7.5 1
860 10498 MNMNACTMACCOBAA HAKIALKA, 32-6 2
870 14465 BWHT, LSKS M6X20 A2 70 1
900 1098 KOMMNEKT PEOYKTOPA U NNAHETAPHbIX LUECTEPH 1
920 25103 YCTPOWCTBO NOLAYN B CEOPE 1

HALLDE 3ANACHbIE YACTH



